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Constant  accelyahion
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103 Constant vertical acceleration

A ball launches off a horizontal surface. At the moment of ‘é
launch its velocity is ¥;. At all later times it accelerates with |

a constant acceleration, & The situation with the vectors
drawn to scale is illustrated (for the velocity vector, the grid | v
unit is the standard unit of velocity and for acceleration the
grid unit is the standard unit of acceleration). (131S5p2025)

a) Draw, as accurately as possible, the velocity vector, ¥,
at an instant 1.0s after the initial instant.
b) Using v; describe whether the object is moving faste

initial instant.
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c) Using v describe the direction in which the object is moving at the 1.0s instant.
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